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We are all aware of the effect greenhouse gas emissions is having on our planet and
the efforts needed to tackle climate change. Most of us are doing our bit to
minimise our impact on the environment, but despite our collective effort, are we
doing enough to achieve net zero by 20507?

Net zero means not adding to the amount of greenhouse gases in the atmosphere.
Many countries are doing their bit by changing how they generate and use power,
thereby cutting carbon dioxide output. And they announced what further steps they
were going to take at the recent COP26 summit in Glasgow.

In the UK, the government has been setting out its plans to achieve net zero by 2050.
It’s recently announced an end date for the sale of gas boilers, which are used for
heating homes. The idea is to replace them with heat pumps. It's offering
homeowners grants of up to £5,000 to get them installed. Another initiative in the
UK is a big push towards electric vehicles. There are to be financial incentives for car
manufacturers, and more charging points are to be installed in streets. And there’s
to be a ban on the sale of new petrol and diesel cars by 2030.

But not all emissions can be reduced to zero, so those remaining will have to be
compensated for, or offset. One way to do this is to plant thousands of trees, which
are good at absorbing carbon dioxide. The UK government has pledged to plant
30,000 hectares of trees a year by 2025. There are other ideas too, but what’s certain
is this will cost money. The CBI’'s Tom Thackray told the BBC that “those costs have
to be weighed up against the cost of inaction.”

Whether the UK, or anyone else, reaches net zero remains to be seen. And there’s
some doubt about how this can be accurately measured anyway. But it’s generally
recognised that a global effort is needed to tackle climate change. Therefore, net
zero targets only make sense if every other country is moving in the same direction.

Take Away English ©British Broadcasting Corporation 2021
bbclearningenglish.com/chinese Page 1 of 4



WICR

emission HER

climate change SR

do one’s bit R—#r71

net zero “BEHR” (BESEFEHBONE

greenhouse gas

BESE

carbon dioxide =
gas boiler R
heat pump R
electric vehicle HIER, HIRE
incentive b, Bl
offset B 9]
inaction MMER, BT
global effort ERBEFHN
target Ht5
Take Away English ©British Broadcasting Corporation 2021

bbclearningenglish.com/chinese

Page 2 of 4



L ST 2
1. BRSO Bl & R

1. In which city did many world leaders recently meet to discuss reaching net
zero?

2. Name one thing the UK government is going to end the sale of.
3. What is the UK government hoping to plant by 2025?
4. True or false? A few countries need to take action to tackle climate change.

5. What device needs to be installed more commonly in streets in order to power
electric cars?

2. WFR B S M RE R FE AR R T I T

1. We're to tidy up the village by picking up litter.

done our bit doing our bit doing your bit did our bit
2.The for writing this script is we’re allowed to go home early.
inaction offset incentive targets

3. Kevin has set us a to do double the amount of work this week.
target targeted targets targeting

4. We’re going to the cost of the holiday by not spending as much on

going out for meals.

offset do our bit inaction emissions

5.1t takes a to deal with climate change.

globe effort global effect global efforts global effort
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1. In which city did many world leaders recently meet to discuss reaching net
zero?

Glasgow, UK.

2. Name one thing the UK government is going to end the sale of.

It plans to end the sale of gas boilers, and petrol and diesel vehicles.
3. What is the UK government hoping to plant by 2025?

The UK government has pledged to plant 30,000 hectares of trees a year by
2025.

4. True or false? A few countries need to take action to tackle climate change.

False. It’s generally recognised that a global effort is needed to tackle climate
change.

5. What device needs to be installed more commonly in streets in order to power
electric cars?

More charging points need to be installed in streets to power electric cars.

2. WFR B S M B RFE AR R T I T

1. We’re doing our bit to tidy up the village by picking up litter.
2. The incentive for writing this script is we’re allowed to go home early.
3. Kevin has set us a target to do double the amount of work this week.

4. We’re going to offset the cost of the holiday by not spending as much on
going out for meals.

5. It takes a global effort to deal with climate change.
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